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Normfarbwertdifferenz
Yoc=L*w - nc=100,
T*LaBINDU6=IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yc)
T*LaBINDUs=IN(A 1+ A20)/(A2uPon) - (X=YTYy)
dY=Agn(A1+AznY)=Aon(A1+Ag,X). Siehe CIE 230:2019
dYoq=0,35, Ay=0,6666, A,=0,1044, ¢=1,00
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log (AY/Y) LABJNDUG
. Normfarbwertemfindlichkeit
SHEYY Yoc=L*w - nc=100,
T*LaBINDU6=IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yc)
T*LaBINDus=IN(A 10+ A20)/(A2uAon) - (X=YTYy)
AYIY=Agn(A1r+AgnY)Y=Aon(Arr+AgX)Y
(dY/Y}5=0,0039, A,,=0,6666, A,=0,1044, ¢=1,00
(dY/Y)5=0,0044, A=0.017, A,=0,0058
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Normfarbwertkontrast

Y=L w nc=100,
T*LaBINDU6=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,c)
T*LaBINDus=IN(A 10+ A20)/(A2uhon) - (X=YTYy)
YIAY=Y/[A on(A1ntA2n V)X Y/ [Aon(A1n+AuX)]

log (Y/AY)
C,=(Y/AY)

T*,=748 dY,=0,08 Y, /dY, 222
log(Y/dY)-2,34 m=0,13 »-*"
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(YIdY)§=222.25, A=0,017, AgntO goshrwendiings
(YidY)=162,85 Y18 =008
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T*LABINDUG=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LABINDUG=IN(A 10+ A2) (A2 Pon)  (X=YTYy)
T*N(3,6)=329,T*(18)=748,T*,(90)=1164

T*og/T*=1,55, Ay=0,6666, A,=0,1044, ¢=1,00
T*19/T*,=1,00, A =0,017, A=0,0058
T3 gT*,=0,43,T%=747 51 \~18

TT* =1, m;=0,79
L* ;=49,T*,=748
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LABJNDUuG relative
Normfarbwertdifferenz
Yoc=L*w - -nc=100,
T*LABINDUG=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LABINDUG=IN(A 10+ A2) (Ao Pon) - (X=YTYy)
dY/dY =(A1ntAX)(A1+ALY)
dYoy/dY,=4,43, Ay=0,6666, ,=0,1044, ¢=1,00
dY,g/dY,=1,00, A,;=0.017, 4=0,0058 ..
dY; ¢dY,=0,31 Y, =18, dY=0,08

T*,=748 dY,=0,08 dY_/Y,=0, (‘JI‘ 7 A
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XN=0,2 Xw=5

log [(AY/Y) I (AYIY)] LABJINDUG relative
Normfarbwertempfindlichkeit

SISU=@YIVIAY, Yomra e
T*LaBaNDu =IN(A 10+ A2 Y)/(A2nAon)  (Yn/100<Y<=Yyc)
T*LABINDUG=IN(A 10+ A2) (Ao Pon)  (X=YTYy)
AYYY@YIYV)=[A 1+ A2X) Xl (A 1+ Agy)
(dY/Y}o/(dY/Y,=0,88, Ay=0,6666, A,=0,1044, ¢=1,00
A,

(AY/Y) (YY), Agn— 017, Ag =0,0058
@Y/IY) d(dYIY)=1

log[(dY/Y(dY/Y),]=0, m/=-0, 13 3
T*,=748 dY,=0,08 dY,/Y,=0,0044

=1
Xw=5
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bereich

XN=0,2
log [(Y/AY) I (YIAY),] LABJINDUSG relativer
Normfarbwertkontrast
CrlCry=(YIAV)I(YIAY)y yoi % 2100,

T*LABINDUG=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LABINDUG=IN(A 1A (A2 Pon)  (X=YTYy)
(YIAYY(Y/IAY)=[XI(A A X)(A 17+A L)
(YIdY)g/(Y/dY)=1,12, Ay=0,6666, A,=0,1044, ¢=1,00
(Y/dY)g/(Y/dY)=1,00, A,=0,017, A-=0,0058
(Y/dYY g(Y/dY)=0,64 Y, =18, dY=0,08




